log (L*) CIELAB lightness
log(L*) L*
CIELAB lightness for all colours, L*,=100:
L* =116 /Yy *- 16 ,=100, Y> 1)

=1.69 m=0.43

application’
range

Y, =180

VE620-1N_1

log AY CIE tristimulus value difference
log(AY) AY
L* =116 §/Y,) 3 - 16
log(dY) = log( 3 (Y/116) ) + (2/3) log¥/Yy)
= log(3(Y, "3/116) + (2/3) logy)

log(dY)=0.82 m,=0.66

1 application
range

CIE tristimulus values
Y)

CIELAB sensitivity:
log[(AY/Y) = log(3 (7, *3)/116) — (1/3) logy

application’
range

VE620-5N_1

log (Y/AY) CIE contrast
10g(C;)  C=(Y/AY)
log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log(Y/Y,,)

= log[(1/3) (116/¢,""%)] + (1/3) log(y)
log(Y/dY)=1.33 m,=0.33

VE620-7N_1

* ) CIELAB lightness

*

réjlative normalized CIELAB data

CIELAB lightness for all colours, L*,=100:
L* =116 ¢/Y,) "3~ 16 ¥,=100, Y> 1)

log[(L*) /(L* ,)]=0, m,=0.43

VE620-2N_1
log(AY/AY,) CIE tristimulus difference
INUND
relative normalized CIELAB data
L* =116 (//Y,) X2 - 16

log(dY)= log( 3 (Y/116) ) + (2/3) log{/Yy,)
= log(3(Y, /3/116) + (2/3) logy)

log[(dYY(dY,)]=0, m,=0.66

range
=18

VE620-4N_1

log [(AY/Y) | (AY,/Yy)] CIE values
S/S,=(AYIYIAY,
relative normalized CIELAB sensitivity

1og[(AYV)(AY,/Y,)] = log(YrY,) 2

VE620-6N_1

log [(Y/AY) I (Y /AY,)] CIE contrast
109(C;)  Ce/Cry=(YIAY)I(Y /AY,)
relative normalized CIELAB contrast sensitivity
log[(Y/AY)/(Y,/AY,)] = log(Y/Yy)Y®
L* =50, Y,=18, d
1 log[(Y/dYY(Y,/d
1

application’
range

VE620-8N_1

sRGB lightness for all colours L*y,=100:
L* =100 §//Y,)2

4 (v,=100, Y> 1

logé G 1,=0.98

application’
range

100

VE621-1N_1

log (L*L* ;) sRER lightness

LS,

relative normalized SRGB data

SRGB lightness for all colours L*\,=100:
L* =100 §//Y,)¥2* (v,=100, Y> 1)

VE621-2N_1

VE620-7N




